
Lecture 13 - Oct. 24

Bridge Controller

Proof Obligation of Inv. Preservation
Inference Rule: Syntax and Semantics



Announcements/Reminders

• ProgTest1 & WT1 results to be released next Monday.
• Lab4 released (ProgTest2 on November 6)
+ Try to complete Part 1 ASAP.
+ Follow the proof steps in Part 2 & collect questions.
+ Scheduled lab session on October 30.

↓ Demo of Lab4 Part]
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PO/VC Rule of Invariant Preservation
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PO/VC Rule of Invariant Preservation: Components

c: list of constants
A(c): list of axioms
v and v’: variables in pre- and post-state

I(c, v): list of invariants

G(c, v): guards of an event’s

E(c, v): effect of an event’s actions

v’ = E(c, v): BAP of an event’s actions 
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PO/VC Rule of Invariant Preservation: Sequents

Q. How many PO/VC rules for model m0?
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Total # of POs : 2 * z = 4. Exercist : P03 & 404 ?-
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PO/VC Rule of Invariant Preservation: Sequents
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Q. What does it mean when A is empty/absent?

Examples

Inference Rule: Syntax and Semantics
Syntax Semantics

anteed name
useques

H11-G To prove HIsHzrG
Mon

HIsHerG monotonicity · It's sufficient to prove
Hr-G


